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package com.yunzhi.GUI;
import java.awt.Cursor;
import java.awt.FlowLayout;
import java.awt.GridBagConstraints;
import java.awt.GridBagLayout;

import java.awt.GridLayout;
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import java.awt.Insets;

import java.awt.event.ActionEvent;
import java.awt.event.ActionListener;
import java.awt.event.WindowEvent;

import java.awt.event.WindowListener;

import javax.swing.JButton;
import javax.swing.JDialog;
import javax.swing.JFrame;
import javax.swing.JLabel;
import javax.swing.JMenu;
import javax.swing.JMenuBar;
import javax.swing.JMenultem;
import javax.swing.JPanel;

import javax.swing.JTextField;

public class Calculatordemo extends JFrame implements WindowListener,ActionListener {

String str;

String valuas;

String s;

double result;

String labe;

JMenuBar menubar;
JMenu menu1;

JMenu menu2;

JMenu menus3;
JMenultem menuitem1;
JMenultem menuitem2;
JMenultem menuitem3;

JMenultem menuitem4;



JMenultem menuitemS5;

JPanel panel;

JButton button;

JTextField text;

JLabel label;

GridBagConstraints contains;

public Calculatordemo()

{

labe="";

result=0;

str="",

valuas="0",

S="+";
this.setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE);
this.setSize(300,400);
this.setTitle("i & 3");

this.setLayout(new FlowLayout());
menubar=new JMenuBar();
this.setJMenuBar(menubar);

menuil=new JMenu("& % (V)");
menu2=new JMenu("%i % (E)");
menu3=new JMenu("# B (H)");
menuitem1=new JMenultem("Ji 2id %");
menuitem2=new JMenultem ("} %t 5 2&");
menuitem3=new JMenultem("#5 #E it H 22 ");
menuitem4=new JMenultem("{E & {5 8 ");
menuitem5=new JMenultem("#¢ 81 ");
menuitem1.addActionListener(this);
menuitem2.addActionListener(this);
menuitem3.addActionListener(this);

menuitem4.addActionListener(this);



menuitem5.addActionListener(this);

menui.add(menuitem1);

menu2.add(menuitem?2);

menu2.add(menuitem3);

menu3.add(menuitem5);

menu3.add(menuitem4);

menubar.add(menu1);

menubar.add(menu2);

menubar.add(menu3);

panel=new JPanel();

panel.setLayout(new GridBagLayout());

contains=new GridBagConstraints();

text=new JTextField();

Iltext.setText("0");

text.setHorizontalAlignment(JTextField.RIGHT);

contains.gridx=0;

contains.gridy=0;

contains.gridwidth=5;

contains.gridheight=2;

contains.fill=GridBagConstraints. HORIZONTAL;
panel.add(text,contains);

createButton("x*", 0, 2, 1, 1,GridBagConstraints.HORIZONTAL, 5, 0);
createButton(“\/", 1, 2, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("%", 2, 2, 1, 1,GridBagConstraints.HORIZONTAL, 5, 5);
createButton("Mi k", 3, 2, 2, 1,GridBagConstraints.HORIZONTAL, 5, 5);
createButton("7", 0, 3, 1, 1,GridBagConstraints.HORIZONTAL, 5, 0);
createButton("8", 1, 3, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("9", 2, 3, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("7EZE", 3, 3, 2, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("4", 0, 4, 1, 1,GridBagConstraints. HORIZONTAL, 5, 0);

createButton("5", 1, 4, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);



createButton("6", 2, 4, 1, 1,GridBagConstraints.HORIZONTAL, 5, 5);
createButton("*", 3, 4, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("/", 4, 4, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("1", 0, 5, 1, 1,GridBagConstraints. HORIZONTAL, 5, 0);
createButton("2", 1, 5, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("3", 2, 5, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("+", 3, 5, 1, 1,GridBagConstraints.HORIZONTAL, 5, 5);
createButton("-", 4, 5, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton(".", 0, 6, 1, 1,GridBagConstraints. HORIZONTAL, 5, 0);
createButton("0", 1, 6, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("1/x", 2, 6, 1, 1,GridBagConstraints. HORIZONTAL, 5, 5);
createButton("=", 3, 6, 2, 1,GridBagConstraints.HORIZONTAL, 5, 5);
label=new JLabel(" 5 #id %");

label.setAutoscrolls(true);

contains.gridx=0;

contains.gridy=7;

contains.gridwidth=5;

contains.gridheight=2;

contains.fill=GridBagConstraints. HORIZONTAL;
panel.add(label,contains);

this.add(panel);

this.setVisible(true);

}

protected void createButton(String name,int x,int y,int w,int h,int hv,int iu,int il)
{

button=new JButton(name);

contains.gridx=x;

contains.gridy=y;

contains.gridwidth=w;

contains.gridheight=h;

contains.insets=new Insets(iu,il,0,0);



contains.fill=hv;
button.addActionListener(this);
panel.add(button,contains);

}

public void calculator()

{
if(s=="+")result=result+Double.parseDouble(valuas);

else if(s=="-")result=result-Double.parseDouble(valuas);

W

else if(s=="*")result=result*Double.parseDouble(valuas);
else if(s=="/")result=result/Double.parseDouble(valuas);
else if(s=="1/x")result=(1/Double.parseDouble(valuas));
else if(s=="%")result=result/100;

else if(s==""")result=Math.sqrt(Double.parseDouble(valuas));

else if (s=="x*")result=result*result;

valuas="0";

}

public void actionPerformed(ActionEvent e)
{

/| TODO Auto-generated method stub

String type;

JMenultem mnit = null;

JButton btn = null;

type=e.getSource().toString();

if(ty pe.contains("JMenultem"))

{

mnit=(JMenultem)e.getSource();
if(mnit.getText()=="F5 $id %")

{

System.out.printin("f5 S22 %");

JDialog dialog=new JDialog();

dialog.setTitle("Ji 2id %");



dialog.setSize(100,200 );
dialog.add(label);

dialog.setVisible(true);

else
if(mnit.getText()=="#} % & 23")

{

System.out.printin("#R K B E T ");

else
if(mnit.getText()=="4r #E it H 3 ")
{
System.out.printin("& ¥ LE EF");

else

if(mnit.getText()=="{E &5 2")
{
System.out.printin("#iE 5 7 ");

if(mnit.getText()=="# 81 ")
{
System.out.printin("iX & — =X & 8. 5 FH i 5 8");

}

}
if(type.contains("JButton"))

{



btn= (JButton) e.getSource();

if (btn.getText() == "=")

{

calculator();

labe=labe+"<br>"+str+"="+result;
label.setText("<htmI>"+"pj £ x&" +labe+"</htmI>");
str = String.value Of(result);

text.setText(str);

S="+";

}

else if (btn.getText() == "x2")

{
str=text.getText();

str=str+"2";
text.setText(str);

calculator();

s=|lx2|| ;

}
else if (btn.getText() == "1/x")

{

str=text.getText();

str=str+"1/";

text.setText(str);

calculator();

s="1/x";

}

else if (btn.getText() == "MEE")
{

str=text.getText();

if(str.length()!=0)



{

if(valuas.length()>=1&&str.length()>=1&&str.charAt(str.length()-1)<='9'&&str.charAt(str.length()-
1)>="0")valuas=valuas.substring(0,valuas.length()-1);

else s="+";
if(str.length()>1&&str.substring(str.length()-2,str.length()).equals("1/"))

{
str=str.substring(0,str.length()-2);

}

else str=str.substring(0,str.length()-1);

}

text.setText(str);

}

else if (btn.getText() == "iHF ZF")

{

text.setText("");

valuas="0";

result=0;

s="+";

labe="";

label.setText("<htmI>"+"}j $id %" +labe+"</htm[>");
}

else if (btn.getText() == "+"
{

str=text.getText();
str=str+"+";

text.setText(str);

calculator();
s = Il+ll;
}

else if (btn.getText() == "-")



{
str=text.getText();

str=str+"-";
text.setText(str);
calculator();

s=""

}

else if (btn.getText() == "/")
{

str=text.getText();
str=str+"/";
text.setText(str);
calculator();

s="/";

}

else if (btn.getText() == "*")

{
str=text.getText();

str=str+"*";
text.setText(str);
calculator();
s="*"

}

else if (btn.getText() == "%")
{
str=text.getText();
str=str+"%";
text.setText(str);
calculator();

s = II%II;

}



else if (btn.getText() == "\")
{

str=text.getText();
str=str+"\";
text.setText(str);
calculator();

s="\";

}

else

{

str=text.getText();
str=str+btn.getText();
valuas=valuas+btn.getText();

text.setText(str);

}
}

[*System.out.printin(valuas);
System.out.printin(resulit);

System.out.printin(s);*/

}
[

* @param args

*I
public void password()
{
JDialog dialog=new JDialog();
dialog.setTitle("i& # A\ & 15");
//dialog.setSize (100,200 );
dialog.setLayout(new GridLayout(3,1,10,10));

label.setText("<htmI>"+"i+ H 8% £ _E8{" +"<br>"+"F i \ % 5 # 8{"+"</htmI>");



dialog.add(label);

dialog.add(text);

dialog.setBounds(600, 400, 200, 150);
dialog.setVisible(true);

}

public static void main(String[] args) {

/| TODO Auto-generated method stub
Calculatordemo cal =new Calculatordemo();
cal.addWindowListener(cal);

}

public void windowClosing(WindowEvent e)

{

System.out.printIn("1E 5% & 0");
System.exit(0);

}

public void windowActivated(WindowEvent e)
{

System.out.printin("Bt 8 XEF O");

}

public void windowDeactivated(WindowEvent e)

{

password();

}

public void windowDeiconified(WindowEvent e)
{

System.out.printin("iX R & O");

}

public void windowlconified(WindowEvent e)

{

System.out.printin("&/MLE O");

}



public void windowOpened(WindowEvent e)
{

System.out.printin("& O 23T F");

}

public void windowClosed(WindowEvent e)
{

System.out.printin("& O 2 X HA");
}

}
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